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945 1 T 200m F 5-3+1 900 1-2:3 B 5000MW R 900 1 B 5000m R
1000 2 T 200m F 4-3+4 945 1 T 400m F 3-2+2 925 2 B 5000m R
1015 1 B 200m F 9-2+6 965 2 k=3 400m F 4-1+4 9560 3 B 5000m R
1045 2 B 200m F 9-2+6] 1010 1 B 400m F 6-0+8] 1015 1 k=3 100m F 7-3+3
1115 3 B 200m F 3-2+2| 1030 2 B 400m F 5-0+8] 1040 2 k=4 100m & 6-2+4
1130 1 k=4 400mH F 2-3+2| 1045 3 B 400m F 2-3+2] 1100 3 k=4 100m & 2-3+2
11140 A1 B 400mH F 3-2+2| 1055 1 B 1600m & 3-4+4] 1110 1 B 100m F 10-2+4
1160 2 B 400mH F 3-2+2| 1120 2 B 1600m F 3-4+4] 11145 2 B 100m F 11-2+2
1205 1 T 800m F 3-2+2| 11560 1 T 100mH & 2-3+2] 1220 3 B 100m & 4-3+4
1220 2 k=4 800m F 2-3+2| 1200 2 T 100mH & 2-3+2| 12385 1 k=4 100m ¥ 3-2+2
1230 1 B 800m F 3-2+2| 1215 1 B 110mH & 2-3+2| 1245 2 T 100m % 2-3+2
1245 2 B 800m F 3-2+2| 1225 2 B 110mH & 3-2+2] 1300 1 B 100m ¥ 3-2+2
1300 1 k24 200m #¥  2-3+2| 1240 1 k=4 400m R 1310 2 B 100m # 3-2+2
1310 2 k24 200m #¥ 2-3+2]| 12145 2 T 400m R 1320 3 B 100m # 2-3+2
1320 1 b3 200m #¥ 3-2+2]| 1250 3 T 400m R 1420 1 T 100m R
1330 2 b3 200m #¥  3-2+2| 1255 1 B 400m R 1425 2 T 100m R
1345 1 k=3 400mH 3R 1300 2 B 400m R 1430 3 k=4 100m R
1360 2 k=3 400mH 3R 1305 3 B 400m R 1435 1 B 100m R
1365 3 k=4 400mH 3R 14:00 g 4X100mR R 1440 2 B 100m R
1405 1 B 400mH 3R 14.05 B 4X100mR R 1445 3 B 100m R
1410 2 B 400mH 3R 1415 1 k=3 1500m R 1500 1 k=3 3000m R
1415 3 B 400mH R 1425 2 T 1500m R 1515 2 k3 3000m R
1430 1 % 3000mSC #R 1435 3 k=4 1500m R 1530 3 k=4 3000m R
1450 2 % 3000mSC #R 1450 1 T 100mH R 15:50 L 4X400mR R
1510 3 % 3000mSC #R 1450 2 T 100mH R 16:00 B 4X400mR R
15385 1 k4 200m R 1450 3 T 100mH R
18385 2 T 200m R 1505 1 B 110mH R
15385 3 T 200m R 1505 2 B 110mH R
1545 1 B 200m R 1505 3 B 110mH R
1545 2 B 200m R 1515 1 B 1500m R
1545 3 B 200m R 1525 2 B 1500m R
1565 1 T 800m R 15635 3 B 1500m R
1600 2 k=4 800m R 1615 g  4X400mR  F 3-1+5
1605 3 T 800m R 16:35 8 4X400mR F 4-1+4
16115 1 B 800m R
1620 2 B 800m R
1625 3 B 800m R
1640 g 4X100mR F 4-1+4
17:00 £ 4X100mR F 5-0+8
1000 1-3 B EigEE R ABEwr| 1000 1 b3 EsE R 1000 1 T EsE R
1100 1-:2:3 85 Eal R 1030 1:2:3 & Elgk R ABEvR] 1030 A1 B =Bk R ABEwhk
1100 1-2 24 =337 SPP
1215 2 B EEBk B® ABEwH] 1400 2-3 b3 EsE R 1230 2 T EsE R
1415 1:2:3 & =B R 1300 2-3 B =Bk R ABEw R
1000 1-:2:3 85 NI—1% R 1000 1-2 k= DD/ R 1000 1:2:3 & Noe—% R
1030 1-2 k= fahE R 1030 2 L3 g R
1230 2 L3 DO’ R 1245 2 L3 BgE R 1230 1-3 B g R
1430 1-3 B HDE’ R 1430 1-3 B P R 1300 123 & mgE R
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